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QUESTION 1

When would disabling Read Locality be beneficial for a 2-node vSAN?
A. when using all-flash disk groups

B. when using hybrid disk groups

C. when using erasure coding

D. when using witness traffic separation

Correct Answer: D

Reference: https://www.virtualizationhowto.com/2019/09/two-node-vsan-performance-tip-disable-site-readlocality/

QUESTION 2

Which two factors should be considered when planning usable vSAN datastore capacity? (Choose two.)
A. Flash Read Cache Reservation percentage

B. Failure tolerance method

C. Stripe width

D. IOPS limit for object

E. Failures To Tolerate

Correct Answer: BE

Reference: https://docs.vmware.com/en/VMware-vSphere/6.7/vsan-671-planning-deployment-guide.pdf

(23)

QUESTION 3

A storage policy has these rules:

Site disaster tolerance: None - standard cluster

Failures To Tolerance: 2 failures - RAID-1 (Mirroring)

What is the minimum number of hosts required to comply with this storage policy?
A. 3

B. 4

C.5
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Correct Answer: A

https://lwww.geekcert.com/5v0-21-19.html
2024 Latest geekcert 5V0-21.19 PDF and VCE dumps Download

Reference: https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vsphere.vmc-aws-manage-data-

center.doc/GUID-EDBB551B-51B0-421B-9C44-6ECB66ED660B.html

QUESTION 4

Refer to the red question mark in the exhibit.

Site A

Cluster A— 7 VMs Cluster B—-9 VNs

ESXi Hosts
Dell PERT20% 3
vSphere 0.5

f?

-

Replication

Site B

Cluster A - 7 VMs

ESXi Hosts
HPDL380 G10x3
vSphere 6.7ut

VSAN 0.7

10 Gbps Switch 1

Cluster B -9 ViMs

10 Gbps Switch 2

ESXi Hosts
HPE DL380 G10x 3
vSphere 6.7u1
VSAN DT

Which VMware solution provides automated interoperability to failover and re-protect VMs from Site A to Site B, and

Site B to Site A?

A. vSphere Integrated Containers
B. NSX SD-WAN by VeloCloud
C. vRealize Operations

D. Site Recovery Manager

Correct Answer: D

To fail back from site B to site A (after failover from site A to site B), Site Recovery Manager licenses are required for the
"re-protected" virtual machines at Site B. The "per virtual machine" licenses originally used at site A can be used at site
B for this purpose, as long as the licenses are no longer in use at site A

Reference: http://media.zones.com/images/pdf/vmware-site-recovery-manager-faq.pdf

QUESTION 5
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The vSphere Client reports that the state of some components stored on the vSAN datastore are in the Reconfiguring
state.

What causes components to enter this state?

A. The cluster is recovering from a vSAN failure.

B. A host in the cluster enters maintenance mode.

C. The storage policy associated with the components is changed or modified.
D. Additional storage capacity is added to the cluster.

Correct Answer: C
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